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5690

B. A. (General) EXAMINATION
(Sixth Semester)
HISTORY
Modern World
Opt—(1)

Time : Three Hours Maximum Marks @ 0

Note : Attempt Five questions in all, selecting one
question from each Unit. Q. No. 1 is
compulsory. All questions carry equal marks.
Blind candidates may attempt any other
questions in lieu of the Map question. If
they attempt thc Map question, the part
relating to explanatory note will carry full
marks. by '

Unit |

[. Discuss the meaning and the main features of
“Mercantilism’. What led to its decline ? 16
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Discuss the causes and effects of the
Agriculture Revolution in Westerm Lurope.
16

What do you understand by ‘Reformation’ ?
What were its causes and empact on Europe ?
16

Unit I1

Critically explain the causes and results of the
Glorious Revolution of 1688. 16

Examine the -consequences of the American
Revolution of 1776. 16

Discuss the social and economic causes of
French Revolution of 1789 ? Also write about

role of Philosophers. 16
Unit I11

Examine the causes and effects of the

Communist Revolution of 1949 in China. 16
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8. Discuss the causes of the first world war. 16
9. Give a critical analysis of the Paris Peace
Settlement of 1919-20. 16
Unit IV
10. On the outline map of Europe show the
countries, which  witnessed  ‘Industrial
Revolution’ in Europe. Write an explanatory
note also. ' . 10+6=16
Or .
On the outline Map of the World. show the
polarisation of world war-1I and write .an
explanatory note on it. 10+6=16
UnitV
Part A
11. Answer any four of the following :  4x2=8
(a) Name two literary works of Shakespeare ?
(b) Who invented ‘Power-loom’ ?
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(Hindi Version)
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am ‘|’ 10+6=16
(1) aieifis wifa wel 9% & ?
(i) =4
(ii) grefs
(iii) W™
(iv) s
(1) m-afém off & &4 d T 95 o ?
(i) TSI
(i) geell-SmH
(iii) wri-geed
(iv) gecdt-sufegn
(|) ‘TeEa' w T FwA g odl ¢
(i) 1919 %
(i) 1921 %
(iii) 1922 %

(iv) 1920 3.
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